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PROFILO  SKYMETRO BD

SEZIONE 4

PROGRESSIVA  150.00

1.69
N 4

100

100

PROGRESSIVE
TERRENO

-15.00

-14.00

-13.00

-12.00

-11.00

-10.00

-9.00

-8.00

-7.00

-6.00

-5.00

-4.00

-3.00

-2.00

-1.00

0.00

1.00

2.00

3.00

4.00

5.00

6.00

7.00

8.00

9.00

10.00

11.00

12.00

13.00

14.00

15.00

PARZIAL
TERRENO

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.

00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

QUOTE
TERRENO

8.54

8.56

8.59

8.62

8.64

8.67

8.69

8.72

8.74

8.71

8.68

8.66

8.63

8.60

8.58

8.52

9.79

8.66

8.66

9.98

9.87

9.91

9.91

10.01

5.62

5.62

4.90

488

4.85

483

PROGRESSIVE
PROGETTO

-0.72 —

0.00 — 8.55
0.72 —

PARZIAL
PROGETTO

0.72

0.72

QUOTE
PROGETTO

13.40

13.40
13.40




PROFILO  SKYMETRO BD

SEZIONE 5

PROGRESSIVA  200.00

214

<y 100

100

ia

PROGRESSIVE
TERRENO

-15.00

-14.00

-13.00

-12.00

-11.00

-10.00

-9.00

-8.00

-7.00

-6.00

-5.00

-4.00

-3.00

-2.00

-1.00

0.00
1.00

2.00

3.00

4.00

5.00

6.00

7.00

8.00

9.00

10.00

11.00

12.00

13.00

14.00

15.00

PARZIAL
TERRENO

1.00

1.00

1.00

1.00

1.00

1.00

1.

00 | 1.00

1.00

1.00

1.00

1.00

1.00

100 | 1

00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

QUOTE
TERRENO

8.81

8.79

8.77

8.76

8.74

8.72

8.88

8.88

8.88

8.73

8.72

8.70

8.69

8.70

8.74

8.77

8.79

8.81

8.83

8.85

8.87

8.89

8.91

6.05

6.05

5.80

5.72

5.64

5.56

PROGRESSIVE
PROGETTO

-8.66 —

794 — 8.88

-7.22 —

-0.72 —

0.00 — 8.72

0.72 —

PARZIAL
PROGETTO

0.720.72

0.72

0.72

QUOTE
PROGETTO

14.02

14.02

14.02

14.02

14.02

14.02




PROFILO  SKYMETRO BD

SEZIONE 6

PROGRESSIVA  250.00

2.39
AN 4

100

100

PROGRESSIVE
TERRENO

-15.00

-14.00

-13.00

-12.00

-11.00

-10.00

-9.00

-8.00

-7.00

-6.00

-5.00

-4.00

-3.00

-2.00

-1.00

0.00

1.00

2.00

3.00

4.00

5.00

6.00

7.00

8.00

9.00

10.00

11.00

12.00

13.00

14.00

15.00

PARZIAL
TERRENO

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

100 | 1

00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

1.00

QUOTE
TERRENO

9.23

9.23

9.38

9.36

9.35

9.34

9.19

9.15

9.22

9.25

9.26

9.24

9.25

9.26

9.28

9.29

9.29

9.30

9.31

9.32

9.30

10.24

7.37

7.36

7.35

7.34

7.33

7.32

7.30

PROGRESSIVE
PROGETTO

B9

-7.45 —

-6.73 —

-0.72 —

0.00 —9.27

0.72 —

PARZIAL
PROGETTO

0.72

0.72

0.72

0.72

QUOTE
PROGETTO

15.05

15.05

15.05

15.06

15.02

15.02
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